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B3 A = SQIEAIYH|(9,876,481) + XHA|AFRIH|(1,764,709) = 11,641,190 | @ 5 Al = SIEtAIRH|(11,299,399) + XFM|AFRIH|(1,922,791) = 13,222,190 | 1,581,000
1. QIEtA Y] = IYTHARRR(5,771,257) + BAEE|THA4,105,224) = 9,876,481 |1. REFAIYH| = ZYTHALRZ(7,194,175) + IAEE|TH4,105,224) = 11,299,399 1,422,918
1. TR = 5,771,257 |1. M EtALR = 7,194,175 1,422,918
1. QIEMALYH|(ZHE o 2 H| + Q|EFE 2 H| Q) 5,771,257 |1. SIEFALSH|(ZHE = R H|+ 2Bt =5 H| Q) 7,194,175 1,422,918
1. QIEFALHH| (=S AtH]) 5,169,567 [1. $IEtALAH| (=S ALH() 6,448,758 1,279,191
1. 54 & e (RIEFAFYH] 1,650,000,000¥) 1,256,701,818¥ = 1,256,702 | 1. =44 = =M 22| (QEFAFRIH| 1,650,000,0002) 1,256,701,8188 = 1,256,702 -
2. M20H &I % <=2 CH A (RIEFALRIH] 1,557,093,0008) 1,185,852,372¢ = 1,185,852 | 2. M200 2& =2 CHZ= M (IEFAFRIH] 1,557,093,0002) 1,185,852,372¢ = 1,185,852 -
3. 2EE 2R HE((RIEFALYH| 840,000,0008) 643,469,2259 = 643,469 | 3. ZZA =29 X|Ta|(QEFALYH| 840,000,0008) 643,469,225% = 643,469 -
4. EEE YR (RIEAFIH| 774,000,0008) 594,163,096% = 594,163 | 4. TZZ ZZHZHY(IEFALH| 774,000,0008) 594,163,096 % = 594,163 -
5. REZ L[ (RIEFALH] 332,000,0008) 252,893,262¢ = 252,893 | 5. ZR Q2| (RIEFALH] 332,000,0009) 252,893,262¢ = 252,893 -
6. E2ITA 2315H|(RIEFAFH| 900,000,0008) 648,196,919¢ = 648,197 | 6. S2IIA 23} 7| (R EFAFIH| 900,000,0009) 648,196,919% = 648,197 -
7. A DI 25FALY 2 X (QEFAFRIH| 230,000,0002)) 188,094,555 = 188,095 | 7. A|ZI23tALY 2 A (RIEFAFRIH] 230,000,000)) 188,094,555% = 188,095 -
8. ZHO|H|FA| Y A (RIEFAMH| 335,000,000%) 267,602,895% = 267,603 | 8. ZHO|H|SA|H 2 F(RIEFAFRIH| 335,000,0008) 267,602,895¢ = 267,603 -
9. &t & OjEHY QEfO L@ 7| S M|, MAIAT 2R E &) 132,593,1898 = 132,593 | 9. QIEf===& O|EHY QIEIO)LHH 7| S X 2[H|, AR EHE §) 132,593,189% = 132,593 -
- | 10. OFAYSFERR| 7B 2HE] (IEFAFRIH] 1,077,000,0002) 888,025,4309 = 888,025 888,025
- 1 BEE S AT S AHRIEFALRH] 474,000,0008) 368,258,791¢ = 368,259 368,259
- | 12. B0HE O R XS AHSIEFAFRIH| 30,000,000) 22,907,027 = 22,907 22,907
2. BIP7HRI M| (RIEFAF |+ 4 = R H|+ B4R *10%) 601,690 |2. S7I7HXIMI(RIEIAL G| + 2t e 1| + 2 Ef == B *10%) 745,417 143,727
1. AEFALRIH| B IF7EX] M (=S AHH| 5,036,974,141&%10%) 503,697,414% = 503,697 | 1. IEFALH| SIL7HK| Ml (=S AtH| 5,036,974,1412*10%) 503,697,414% = 503,697 -
2. L 2| BILIHX| M| (ZHY o R H| 312,655,543 21*10%) 31,265,554 = 31,266 | 2. 2L 2 H| SIFIHXM|(ZHY e 2 H 312,655,543 &*10%) 31,265,554 = 31,266 -
3. et B BIIHK M|(RIEf 8 534,679,8592*10%) 53,467,986 = 53,468 | 3. YIEf+E SEIHXAIM(RIE =4 534,679,859 :*10%) 53,467,986% = 53,468 -
4, 0|2t G0l A B 7E7LX|M|(H 7| 24 2[H| S 132,593,1891*10%)  13,259,329¢ = 13,259 | 4. O|Er oAt HIFIEXIM|(@ 7| EX2|H| S 132,593,1892*10%)  13,259,329% = 13,259 -
- | 5 FZ0|A EIIK|M|(OFASBIEER] & 1,437,272,72881*10%) 143,727,2728 = 143,727 143,727
2. [A{E|TH 4,105,224 |2. A CH 4,105,224 -
1. QIERALAH| (2B =2 H Q| 4,105,224 |1. YIEFALAH|(RIEI==2 H 2)) 4,105,224 -
1. =3 AH| 3,698,406 [1. =T AHH| 3,698,406 -
1. BZE FAARE| QEIALY(4,175,000,0002) 3,450,443,3428 = 3450443 | 1. BZF IATE| EFALR(4,175,000,0008) 3,450,443,3429 = 3,450,443 -
2. A2 EE5HBH300,000,0008) 247,962,996% = 247,963 | 2. 2A 2| £5HH300,000,0008) 247,962,996 % = 247,963 -
2. RIL7HKIM| 406,818 |2. B7}7HK| M| 406,818 -
1. QIEFARIH| 2 ILIEX M (=3 AH| 3,698,406,33821*10%) 369,840,6348 = 369,841 | 1. QELALAH| R IF7HK| M| (=2 AHH| 3,698,406,3382*10%) 369,840,634% = 369,841 -
2. U = | BIEIFKM (ZHY = R H| 0*10%) 0g = - | 2 ZE =R BIIHKIM Y = 2 H] 03*10%) 0¥ = - -
3. et BT M|(RIE 2 369,775,4812*10%) 36,977,548 = 36977 | 3. E T2 RIIHKIM(RIE 42 369,775,481 *10%) 36,977,548 = 36,977 -
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2. RHH|AFRIH| = X TEALR=(1,285,554) + DA EE|TH479,155) = 1,764,709 |2. REHIAFRIH] = THTHAFRE3(1,443,636) + 2A 1,922,791 158,082
1. ZHEHALR = 1,285,554 |1. ITHALR = 1,443,636 158,082
1. ZHTH2 HH| 1,285,554 [1. T2 HH| 1,443,636 158,082
1. M7|o|gd 100,352 |1. M7[o|& 2 100,352 -
[ 1 7dE Qe g A EY 8% o/ g 100,352,279¢ = 100,352 | 1. MEE TYEh2gH| XM EZ SF% D og 100,352,279¥ = 100,352 -
2. 2P e FH| 312,655 [2. ZH ' R H| 370,660 58,005
1.5 & Zge|EHE o) 102,822,039¢ = 102,822 | 1. 5™ & =Y =2 H) 102,822,039¢ = 102,822 -
2. Mo & 2R EHE =R ) 96,524,079¢ = 96,524 | 2. M20HEE U EH@HH - FH|) 96,524,079¢ = 96,524 -
3. 2R FERX| (Y RH]) 50,748,895% = 50,748 | 3. BTF 2 QX| 22| (AT L 2H]|) 50,748,8952 = 50,748 -
4. 2D ZETYEE o RH) 40,992,561 = 40993 | 4. SLF ZZEXAYUH L 2H]) 40,992,561¢ = 40,993 -
5. BHRGEE[(HH L FH]) 21,567,969¢ = 21,568 | 5 ZEEMEZ| (T FH|) 21,567,969 = 21,568 -
- | 6. OFd=tEEX| ZhEk 2| (7HY = 2 H|) 31,782,7448 = 31,783 31,783
-| 7 AEE ==2ATHSAHE =R H|) 24,268,386 = 24,268 24,268
8. SOt O M| =S AHZHY = FHI) 1,953,3658 = 1,954 1,954
3. fE R 534,680 |3. #IEtx=+8 634,757 100,077
1. 54 & g@e[(RIEFFR) 135,930,689 = 135931 | 1. 5M & ZH2(REFTR) 135,930,689¢ = 135,931 -
2. M2 B % AR YRIET+R) 128,162,640 = 128,163 | 2. M20i &Y =2 Y(RIE+=+8) 128,162,6408 = 128,163 -
3. 2R FERX|HE(RETE) 69,418,245¥ = 69,418 | 3. BZE 2 QX H2(YETFR) 69,418,245¥ = 69,418 -
4. 2nY 2B YRIEFFE) 63,456,689 = 63,457 | 4. SZE ZHXA(QEFET) 63,456,689 = 63,457 -
5. RURGEE(REFFR) 27,356,951 = 27,357 | 5 BEEMHHI(YESEFR) 27,356,951¢ = 27,357 -
6. SEIA ZEN(RIEF=TE) 64,784,900¥ = 64,785 | 6. ERIIA 25IEH(QEIS=+R) 64,784,900 = 64,785 -
7. N2t Y 2B (RIEITER) 18,809,455 = 18,809 | 7. A|BIZAY 2Y(RIEf=+8) 18,809,455 = 18,809 -
8. ZO|H A 2E(RIET+RE) 26,760,290¢ = 26,760 | 8. ZHO|XSA|E 2S(RIEFTRE) 26,760,290 = 26,760 -
- | 9. OFH=tEEX| JHEE B2 (RIEf = 2) 59,282,736 % = 59,283 59,283
- | 10. ALY F=SAYSAHRIET=R) 38,381,914¢ = 38,382 38,382
11. SO0HE oM ESAHRIEIF=E) 2,412,336¥ = 2,412 2,412
47|82 & 43,000 |4. 7182 & 43,000 -
1. RO2[OFZHSLIS0| WAL 4.2 &2 THOf = 3,0000,0008 = 3,000 | 1. 2O|2|ok(7t2LHS0| HA A28 3,0000,0008 = 3,000 -
2. SIO|OLE 7|24 20,000,000 = 20,000 | 2. 8t0|OE 7|5 20,000,0008 = 20,000 -
3. LIRAMI[HAHERERK) 7| 2Y 20,000,0008 = 20,000 | 3. LR MI|HMAHERZ|EY ) 7| EH 20,000,0008 = 20,000 -
5. O|Xp+=¢ 13,200 |5. O|X}+¢d 13,200 -
1. 29E Tt 7|27 &t O| K= ¢ 13,000,0008! = 13,000 | 1. 2EZ XY 7|2 XA O] KF=Q) 13,000,000 = 13,000 -
2. 3= THEALRE T 2YH| ST OlAt+=8 200,000 = 200 | 2. 2= MEIALRE S 2FH| S O|Xt+=¢ 200,0008! = 200 -
6. 7|EFE ¢ 155,667 |6. 7|EFE 2 155,667 -
1. 18X 22019 = 13%) 14,000,0009 * 14! = 14,000 | 1. 18%2{2(0199 = 13%) 14,000,0008 * 14] = 14,000 -
2. 7| AN XS 30%*300,000*374 &*14] = 27,000 | 2. 7| AA ALK A= 30H*300,000*37 &*14] = 27,000 -
3. 16 StAHE 4=H| 23 MO &IEF 65,351,521+ 2 X 29,315,239) 94,666,760 = 94,667 | 3. 16 SIALE $=H|SHZHQROf R E 65,351,521+3 & 29,315,239) 94,666,7608 = 94,667 -
4. BN =3 20,000,0008 = 20,000 | 4. HOIM B2 20,000,0008 = 20,000 -
7. SHAMYEH S 126,000 |7. SHAIUEH| S 126,000 -
[ 1. TE DR S ALY FHZ o[FH 126,000,0008 = 126,000 | 1. HEF IR SHALY FH|F O 2 126,000,0008 = 126,000 -
2. AA{E|TH 479,155 |2. A a|TH 479,155 -
1. A2 22| TH2 FH| 479,155 [1. AT T2 HH| 479,155 -
1. MI|0|Ea 109,315 |1. 7|0 &3 109,315 -
[ 1 FMds IAm2(che g AN EY EFTD 0 109,315,659 = 109315 | 1. MEE AAH2|CH2 AH| ANEL 109,315,659% = 109,315 -
2. &R 369,775 |2. IEt++B 369,775 -
1. ZDE AARL(QEISSR) 345,011,204% = 345011 | 1. SZ& IADZ|(QEISSFE) 345,011,2048 = 345,011 -
2. AATE| HEXSHQEIS4R) 24,7642778 = 24,764 | 2. AATE| BEHSHQELST) 24,764, 2778 = 24,764 -
3. O|X}+¢ 65 |3. O|Xt=¢l 65 -
[ 1. SHE IATL(AQE 2HH[E O[XIY 65,0008 = 65| 1. 2HE IAMSAIAE 2YH|EF 65,0008 = 65 -




